Solving Quadratic Equations Which
Require Rearrangement

Solve by factorisation:
| (@) x2+4x=5
(D)l 2 =txa "y
(c) x=x%-20
() xa=6x=8
(e 9x=22-x7

Solve by factorisation:

(a) x*+4x=x+15

(b) 11+ x%+4+3x=5-2x
() 7=Hx=x*>—10x

(d) 2x*+30=x%+13x
() 4+5x—x?=34-6x

Solve by factorisation:

(a) x(x—5)=14

(b) 25 =t (=)

() 3(x+4)=x%>+2x

(d) x(x—1)=5(x+2)+6
(e)f (- 2) (=13 )i =512

(a) Given that the area of the rectangle is
65 cm?, form a
’,‘

quadratic
equation and

solve it to find x.
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(b) Given that 3cm
the area of the ' I

compound shape
is 45 cm?, form I
=

a quadratic
equation and

solve it to find X.
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x+ 10

(@yx=1 ,xc=-5
(o)>x=6 jee= =l
C:>Dc_=5 )O::-q'
() =4 ;oc=2
e ==l ges 2

(@)ioc =9 oc=5
() sen-8 jees=2
(CB se s ) )DC-="1
(@) =10, e=3
(e) > =6 )CJC.=5

() ee=Tl se==2
Dce= D) B~
CESLEE R
(oc=% , =2
@) =9 ,£=-3

(@) OC(CC—%B =S
ve—Fee (5520

(b) oc(+0 )+6 =45
X2+ O -3 (=0
EerDE=5)=8

ses R 8225




